Bull. Korean Math. Soc. **56** (2019), No. 5, pp. 1285–1296 https://doi.org/10.4134/BKMS.b181101 pISSN: 1015-8634 / eISSN: 2234-3016

# TWO NEW BLOW-UP CONDITIONS FOR A PSEUDO-PARABOLIC EQUATION WITH LOGARITHMIC NONLINEARITY

#### HANG DING AND JUN ZHOU

ABSTRACT. This paper deals with the blow-up phenomenon of solutions to a pseudo-parabolic equation with logarithmic nonlinearity, which was studied extensively in recent years. The previous result depends on the mountain-pass level d (see (1.6) for its definition). In this paper, we obtain two blow-up conditions which do not depend on d. Moreover, the upper bound of the blow-up time is obtained.

## 1. Introduction

In this paper, we consider the following model of a nonlinear pseudo-parabolic equation with logarithmic nonlinearity:

(1.1) 
$$\begin{cases} u_t - \Delta u_t - \Delta u = |u|^{q-2} u \log |u|, & x \in \Omega, \ t > 0, \\ u(x,t) = 0, & x \in \partial \Omega, \ t > 0, \\ u(x,0) = u_0(x), & x \in \Omega, \end{cases}$$

where  $u_0 \in H_0^1(\Omega)$  and  $\Omega$  is a bounded domain in  $\mathbb{R}^n$   $(n \ge 1)$  with smooth boundary  $\partial \Omega$ . The parameter q satisfies

(1.2) 
$$2 < q < +\infty \text{ if } n \le 2; \ 2 < q < \frac{2n}{n-2} \text{ if } n > 2.$$

Pseudo-parabolic equation is used to describe a series of important physical processes, such as the unidirectional propagation of nonlinear, long waves (see [2, 10]) and the aggregation of population (see [9]). Problem (1.1) also can be referred to as Showalter equation [1]. When q = 2, problem (1.1) has been studied by Chen and Tian in [4], where the existence of global solution and infinite time blow-up solutions are obtained. To obtain the finite time blow-up solution, the following model was proposed:

(1.3) 
$$u_t - \Delta u_t - \operatorname{div}(|\nabla u|^{p-2} \nabla u) = |u|^{q-2} u \log |u|,$$

Received November 15, 2018; Accepted April 12, 2019.

2010 Mathematics Subject Classification. 35K58, 35K15, 35B40.

©2019 Korean Mathematical Society

Key words and phrases. pseudo-parabolic equation, logarithmic nonlinearity, critical initial energy, blow-up.

The second author was supported by NSFC (Grant No. 11201380).

which is a mixed pseudo-parabolic *p*-Laplacian type equation with logarithmic nonlinearity. In fact, problem (1.3) has been studied extensively (see for example [3,6–8]). Especially, He et al. in [6] studied (1.3) in  $\Omega$  with zero Dirichlet boundary condition for the case 2 , and they obtained the $solution will blow up in finite time if the initial data <math>u_0$  satisfies  $J(u_0) < d$  and  $I(u_0) < 0$ , where J is the energy functional, I is the Nehari functional and d is the mountain-pass level. The results in [6] were extended by Ding and Zhou [5] for the case 1 recently, where

$$p^* = +\infty$$
 if  $n \le p$ ;  $p^* = \frac{np}{n-p}$  if  $n > p$ .

However, all the previous results depends on d, whose exact value is difficult to computation. The main purpose of this paper is to give some blow-up conditions which do not depend on d.

Firstly, let's introduce some notations. Throughout this paper, we denote the norm of  $L^{\gamma}(\Omega)$  for  $1 \leq \gamma \leq +\infty$  by  $\|\cdot\|_{\gamma}$  and the norm of  $H_0^1(\Omega)$  by  $\|\cdot\|_{H_0^1(\Omega)}$ . That is, for any  $u \in L^{\gamma}(\Omega)$ ,

$$\begin{aligned} \|u\|_{\gamma} &= \left(\int_{\Omega} |u(x)|^{\gamma} dx\right)^{\frac{1}{\gamma}} \text{ if } 1 \leq \gamma < +\infty; \\ \|u\|_{\infty} &= \mathrm{ess} \sup_{x \in \Omega} |u(x)|, \end{aligned}$$

and for any  $u \in H_0^1(\Omega)$ ,

$$||u||_{H_0^1} = \sqrt{||u||_2^2 + ||\nabla u||_2^2}.$$

Secondly, let us introduce the energy functional J and the Nehari functional I as follows:

(1.4)  
$$J(u) := \frac{1}{2} \|\nabla u\|_{2}^{2} - \frac{1}{q} \int_{\Omega} |u|^{q} \log |u| dx + \frac{1}{q^{2}} \|u\|_{q}^{q},$$
$$I(u) := \langle J'(u), u \rangle = \|\nabla u\|_{2}^{2} - \int_{\Omega} |u|^{q} \log |u| dx,$$

where  $\langle \cdot, \cdot \rangle$  denotes the dual pairing between  $H^{-1}(\Omega)$  and  $H^1_0(\Omega)$ . From (1.4), we have

(1.5) 
$$J(u) = \frac{1}{q}I(u) + \frac{q-2}{2q} \|\nabla u\|_2^2 + \frac{1}{q^2} \|u\|_q^q.$$

Let

(1.6) 
$$d := \inf_{u \in N} J(u)$$

denote the mountain-pass level, where  ${\cal N}$  is the Nehari manifold, which is defined by

(1.7) 
$$N := \{ u \in H_0^1(\Omega) \setminus \{0\} \mid I(u) = 0 \}.$$

Similar to the proof of [6, Lemma 2], we know that d is positive and is achieved by some  $u \in N$ .

Thirdly, we denote by  $\mu_1$  the principal eigenvalue of  $-\Delta$  operator with zero Dirichlet boundary condition in  $\Omega$ . Then,

$$\mu_1 = \inf_{u \in H_0^1 \setminus \{0\}} \frac{\|\nabla u\|_2^2}{\|u\|_2^2},$$

which implies, for any  $u \in H_0^1(\Omega)$ ,

(1.8) 
$$||u||_{H_0^1}^2 = ||\nabla u||_2^2 + ||u||_2^2 \le ||\nabla u||_2^2 + \frac{1}{\mu_1} ||\nabla u||_2^2 = \frac{1}{\lambda_1} ||\nabla u||_2^2,$$

where  $\lambda_1 := \mu_1 / (\mu_1 + 1)$ .

**Definition 1.1** (Weak solution). Assume (1.2) holds. Let  $u_0 \in H_0^1(\Omega)$  and T > 0. A function  $u = u(t) \in L^{\infty}(0,T; H_0^1(\Omega))$  with  $u_t \in L^2(0,T; H_0^1(\Omega))$  is called a weak solution of problem (1.1) if  $u(0)(x) = u_0(x)$  a.e. in  $\Omega$  and the follow equality

(1.9) 
$$(u_t, v) + (\nabla u, \nabla v) + (\nabla u_t, \nabla v) = (|u|^{q-2}u \log |u|, v)$$

with any  $v \in H_0^1(\Omega)$  holds for a.e.  $t \in (0,T)$ , where  $(\cdot, \cdot)$  means the inner product of  $L^2(\Omega)$ , that is

$$(\phi,\psi) = \int_{\Omega} \phi(x)\psi(x)dx.$$

The main results of this paper are the following two theorems.

**Theorem 1.1.** Let q satisfy (1.2),  $u_0 \in H_0^1(\Omega)$ . Then the weak solution of problem (1.1) will blow up at some finite time T provided that

(1.10) 
$$J(u_0) < \frac{(q-2)\lambda_1}{2q} \|u_0\|_{H_0^1}^2.$$

Moreover, T can be estimated by

(1.11) 
$$T \le \frac{8q \|u_0\|_{H_0^1}^2}{(q-2)^2 [(q-2)\lambda_1 \|u_0\|_{H_0^1}^2 - 2qJ(u_0)]}$$

**Theorem 1.2.** Let q satisfy (1.2) and  $u_0 \in H_0^1(\Omega) \setminus \{0\}$  satisfy

(1.12) 
$$J(u_0) = \frac{(q-2)\lambda_1}{2q} \|u_0\|_{H_0^1}^2.$$

Then the weak solution of problem (1.1) will blow up in finite time.

We organize the rest of this paper as follows. In Section 2, we give some preliminaries, and the proofs of the theorems are given in Section 3.

#### 2. Preliminaries

In this section, we give some lemmas, which will be needed in our proofs. Firstly, we introduce the following new functionals

(2.1) 
$$J^*(u) = J(u) - \frac{(q-2)\lambda_1}{2q} \|u\|_{H^1_0}^2.$$

Then, we define some sets as follows:

(2.2)  

$$N^* = \{ u \in H_0^1(\Omega) \setminus \{0\} : J^*(u) = 0 \},$$

$$N^*_- = \{ u \in H_0^1(\Omega) \setminus \{0\} : J^*(u) < 0 \},$$

$$N^*_+ = \{ u \in H_0^1(\Omega) \setminus \{0\} : J^*(u) > 0 \}.$$

**Lemma 2.1.** For  $u \in H_0^1(\Omega) \setminus \{0\}$ , there exists a unique  $\lambda_* > 0$  such that  $\lambda_* u \in N^*$ ,  $\lambda u \in N^*_-$  for  $\lambda > \lambda_*$ ,  $\lambda u \in N^*_+$  for  $0 < \lambda < \lambda_*$ .

*Proof.* For any  $u \in H_0^1(\Omega) \setminus \{0\}$  and  $\lambda > 0$ , by (1.4) and the definition of  $J^*(u)$ , we have

$$g(\lambda) := J^*(\lambda u) = J(\lambda u) - \frac{(q-2)\lambda_1\lambda^2}{2q} ||u||_{H_0^1}^2$$
  
=  $\frac{\lambda^2}{2} ||\nabla u||_2^2 - \frac{\lambda^q}{q} \int_{\Omega} |u|^q \log |u| dx$   
 $- \frac{\lambda^q}{q} \log \lambda ||u||_q^q + \frac{\lambda^q}{q^2} ||u||_q^q - \frac{(q-2)\lambda_1\lambda^2}{2q} ||u||_{H_0^1}^2.$ 

Then  $g'(\lambda) = \lambda f(\lambda)$ , where

$$f(\lambda) := \|\nabla u\|_2^2 - \frac{(q-2)\lambda_1}{q} \|u\|_{H_0^1}^2 - \lambda^{q-2} \int_{\Omega} |u|^q \log |u| dx - \lambda^{q-2} \log \lambda \|u\|_q^q.$$

Since

$$f'(\lambda) = \lambda^{q-3} \left[ (2-q) \int_{\Omega} |u|^q \log |u| dx + (2-q) \log \lambda ||u||_q^q - ||u||_q^q \right],$$

if we choose

$$\lambda_{**} = \exp\left(\frac{(2-q)\int_{\Omega} |u|^q \log |u| dx - ||u||_q^q}{(q-2)||u||_q^q}\right),\,$$

it follows  $f'(\lambda_{**}) = 0$ ,  $f'(\lambda) > 0$  for  $0 < \lambda < \lambda_{**}$  and  $f'(\lambda) < 0$  for  $\lambda > \lambda_{**}$ . Since (by (1.8))

$$\lim_{\lambda \to 0} f(\lambda) = \|\nabla u\|_2^2 - \frac{(q-2)\lambda_1}{q} \|u\|_{H_0^1}^2 \ge \frac{2\lambda_1}{q} \|u\|_{H_0^1}^2 > 0$$

and

$$\lim_{\lambda \to +\infty} f(\lambda) = -\infty,$$

we deduce there must exist a  $\lambda_{***} > \lambda_{**}$  such that  $f(\lambda_{***}) = 0$ ,  $f(\lambda) > 0$  for  $\lambda \in (0, \lambda_{***})$  and  $f(\lambda) < 0$  for  $\lambda \in (\lambda_{***}, +\infty)$ . Then we can get  $g'(\lambda_{***}) = 0$ 

 $\begin{array}{l} \lambda_{***}f(\lambda_{***})=0, \ g'(\lambda)=\lambda f(\lambda)>0 \ \text{for} \ \lambda\in(0,\lambda_{***}) \ \text{and} \ g'(\lambda)=\lambda f(\lambda)<0 \ \text{for} \ \lambda\in(\lambda_{***},+\infty). \end{array}$ 

Moreover, since  $\lim_{\lambda\to 0} g(\lambda) = 0$  and  $\lim_{\lambda\to+\infty} g(\lambda) = -\infty$ , there must exist a unique  $\lambda_* > \lambda_{***}$  such that  $g(\lambda_*) = 0$ ,  $g(\lambda) > 0$  for  $\lambda \in (0, \lambda_*)$  and  $g(\lambda) < 0$ for  $\lambda \in (\lambda_*, +\infty)$ .

**Lemma 2.2.** Let N and N<sup>\*</sup> be the sets defined in (1.7) and (2.2), respectively. Then  $N^* \cap N = \emptyset$ .

*Proof.* We argue by contradiction. If there exists a  $u \in N^* \cap N$ , then we have  $u \in H_0^1 \setminus \{0\}$  and (by I(u) = 0 and (1.5))

$$J(u) = \frac{q-2}{2q} \|\nabla u\|_2^2 + \frac{1}{q^2} \|u\|_q^q.$$

Then it follows from  $J^*(u) = 0$  and (1.8) that

$$\begin{split} 0 &= J^*(u) = J(u) - \frac{(q-2)\lambda_1}{2q} \|u\|_{H_0^1}^2 \\ &= \frac{q-2}{2q} \|\nabla u\|_2^2 + \frac{1}{q^2} \|u\|_q^q - \frac{(q-2)\lambda_1}{2q} \|u\|_{H_0^1}^2 \\ &= \frac{q-2}{2q} (\|\nabla u\|_2^2 - \lambda_1 \|u\|_{H_0^1}^2) + \frac{1}{q^2} \|u\|_q^q \ge \frac{1}{q^2} \|u\|_q^q > 0, \end{split}$$

which is a contradiction.

**Lemma 2.3.** Let q satisfy (1.2) and u = u(t) be a weak solution of (1.1). Then J(u(t)) is non-increasing with respect to t.

*Proof.* By the definition of J(u(t)), we obtain

(2.3) 
$$\frac{d}{dt}J(u(t)) = \int_{\Omega} \nabla u \cdot \nabla u_t dx - \int_{\Omega} |u|^{q-2} u u_t \log |u| dx.$$

Let  $v = u_t$  in (1.9) of Definition 1.1, we get

$$||u_t||_2^2 + \int_{\Omega} \nabla u \cdot \nabla u_t dx + ||\nabla u_t||_2^2 = \int_{\Omega} |u|^{q-2} u u_t \log |u| dx,$$

which, together with (2.3), implies

(2.4) 
$$\frac{d}{dt}J(u(t)) = -\|u_t\|_2^2 - \|\nabla u_t\|_2^2 \le 0.$$

Hence J(u(t)) is non-increasing with respect to t.

# 3. Proof of the theorems

Proof of Theorem 1.1. Let u = u(t) be a solution of problem (1.1) with initial value  $u_0$  satisfying the assumptions. We denote by T the maximum existence time of u. Firstly, we prove the solution will blow up in finite time.

If (1.10) holds, from (1.5) and (1.8) we obtain (note q > 2)

(3.1)  

$$I(u_0) = \frac{2-q}{2} \|\nabla u_0\|_2^2 - \frac{1}{q} \|u_0\|_q^q + qJ(u_0)$$

$$\leq \frac{(2-q)\lambda_1}{2} \|u_0\|_{H_0^1}^2 + qJ(u_0)$$

$$< 0.$$

Moreover, it holds

(3.2) 
$$I(u(t)) < 0, \ \forall t \in [0,T).$$

In fact if it is false, by the continuity of I(u), there exists a  $t_0 \in (0,T)$  such that

(3.3) 
$$I(u(t_0)) = 0 \text{ and } I(u(t)) < 0, \ \forall t \in [0, t_0).$$

Since

$$(3.4) \quad \frac{d}{dt} \left( \frac{1}{2} \|u\|_{H_0^1}^2 \right) = \int_{\Omega} |u|^q \log |u| dx - \|\nabla u\|_2^2 = -I(u(t)) > 0, \ \forall t \in [0, t_0),$$

i.e.,  $\|u\|_{H_0^1}^2$  is strictly increasing with respect to t, then we get

(3.5) 
$$J(u_0) < \frac{(q-2)\lambda_1}{2q} \|u_0\|_{H_0^1}^2 < \frac{(q-2)\lambda_1}{2q} \|u(t_0)\|_{H_0^1}^2.$$

On the other hand, by (1.5), (1.8), (3.3) and Lemma 2.3, we have

$$\frac{(q-2)\lambda_1}{2q} \|u(t_0)\|_{H_0^1}^2 \le \frac{(q-2)}{2q} \|\nabla u(t_0)\|_2^2 \le J(u(t_0)) \le J(u_0),$$

which contradicts (3.5), so we obtain I(u(t)) < 0 for all  $t \in [0, T)$ .

Furthermore, we only need to consider the case that  $J(u(t)) \ge 0$  for all  $t \in [0,T)$ . Indeed, if there exists a  $t_0$  such that  $J(u(t_0)) < 0$ , combining with (3.2), we have  $J(u(t_0)) < d$  and  $I(u(t_0)) < 0$ . Then by taking  $t_0$  as the initial time we get the solution blows up in finite time by a similar proof as in [6, Theorem 3].

Next, we will prove the solution u(t) will blow up in finite time by contradiction. Assume u(t) exists globally and let

$$\psi(t) := \frac{1}{2} \|u(t)\|_{H_0^1}^2 - \frac{q}{(q-2)\lambda_1} J(u(t)), \ t \ge 0$$

Then, it follows from (3.4), (2.4), (1.5) and (1.8) that

$$\begin{split} \psi'(t) &= -I(u(t)) + \frac{q}{(q-2)\lambda_1} \|u_t\|_{H_0^1}^2 \\ &\geq \frac{q-2}{2} \|\nabla u(t)\|_2^2 + \frac{1}{q} \|u(t)\|_q^q - qJ(u(t)) \\ &\geq \frac{q-2}{2} \|\nabla u(t)\|_2^2 - qJ(u(t)) \end{split}$$

$$\geq \frac{(q-2)\lambda_1}{2} \|u(t)\|_{H_0^1}^2 - qJ(u(t))$$
  
=  $(q-2)\lambda_1 \left[ \frac{1}{2} \|u(t)\|_{H_0^1}^2 - \frac{q}{(q-2)\lambda_1} J(u(t)) \right]$   
=  $(q-2)\lambda_1 \psi(t)$ 

and

$$\psi(0) = \frac{1}{2} \|u_0\|_{H_0^1}^2 - \frac{q}{(q-2)\lambda_1} J(u_0) > 0,$$

which, combining with  $J(u(t)) \ge 0$ , implies

(3.6) 
$$\frac{1}{2} \|u\|_{H_0^1}^2 \ge \psi(t) \ge \psi(0) e^{(q-2)\lambda_1 t}, \ t \ge 0$$

On the other hand, by Hölder's inequality, (2.4) and  $J(u_0) \ge J(u(t)) \ge 0$ , we have

$$\begin{aligned} \|u(t)\|_{H_0^1} &= \left\| u_0 + \int_0^t u_\tau d\tau \right\|_{H_0^1} \\ &\leq \|u_0\|_{H_0^1} + \int_0^t \|u_\tau\|_{H_0^1} d\tau \\ &\leq \|u_0\|_{H_0^1} + t^{\frac{1}{2}} \left( \int_0^t \|u_\tau\|_{H_0^1}^2 d\tau \right)^{\frac{1}{2}} \\ &\leq \|u_0\|_{H_0^1} + t^{\frac{1}{2}} (J(u_0) - J(u(t)))^{\frac{1}{2}} \\ &\leq \|u_0\|_{H_0^1} + t^{\frac{1}{2}} (J(u_0))^{\frac{1}{2}}. \end{aligned}$$

Combining with (3.6), we obtain

$$\sqrt{2\psi(0)}e^{\frac{(q-2)\lambda_1t}{2}} \le \|u_0\|_{H^1_0} + t^{\frac{1}{2}}(J(u_0))^{\frac{1}{2}}$$

which is impossible when t is sufficiently large. So the assumption is false and then u(t) blows up in finite time.

The above arguments show that the maximal existence time  $T < +\infty$ . Next, we give an upper bound estimate of T. For any  $\widetilde{T} \in (0,T)$ , let

(3.7) 
$$G(t) := \int_0^t \|u(\tau)\|_{H_0^1}^2 d\tau + (T-t)\|u_0\|_{H_0^1}^2 + \alpha(t+\beta)^2, \ t \in [0,\widetilde{T}],$$

where  $\alpha$ ,  $\beta$  are two positive constants which will be specified later. Then

h, for any 
$$t \in [0, T]$$
, by a simply computation, we obtain

(3.8) 
$$\begin{cases} G(0) = T \|u_0\|_{H_0^1}^2 + \alpha \beta^2 > 0, \\ G'(t) = \|u(t)\|_{H_0^1}^2 - \|u_0\|_{H_0^1}^2 + 2\alpha(t+\beta) > 2\alpha(t+\beta) > 0, \\ G'(0) \ge 2\alpha\beta > 0, \end{cases}$$

and

$$G''(t) = -2I(u(t)) + 2\alpha$$

$$\geq (q-2) \|\nabla u(t)\|_{2}^{2} + \frac{2}{q} \|u(t)\|_{q}^{q} - 2qJ(u(t))$$

$$\geq (q-2) \|\nabla u(t)\|_{2}^{2} - 2qJ(u(t))$$

$$\geq (q-2)\lambda_{1} \|u(t)\|_{H_{0}^{1}}^{2} - 2qJ(u_{0}) + 2q\int_{0}^{t} \|u_{\tau}\|_{H_{0}^{1}}^{2} d\tau$$

$$\geq (q-2)\lambda_{1} \|u_{0}\|_{H_{0}^{1}}^{2} - 2qJ(u_{0}) + 2q\int_{0}^{t} \|u_{\tau}\|_{H_{0}^{1}}^{2} d\tau$$

$$> 0.$$

Thus, we can get

$$G(t) \ge G(0) > 0, \ t \in [0, \widetilde{T}].$$

Let

Let  

$$\mu(t) := \left(\int_0^t \|u(\tau)\|_{H_0^1}^2 d\tau\right)^{\frac{1}{2}}, \ \nu(t) := \left(\int_0^t \|u_\tau\|_{H_0^1}^2 d\tau\right)^{\frac{1}{2}}.$$
By using Hölder's inequality, we have

$$\begin{split} & \left[\int_{0}^{t} \|u(\tau)\|_{H_{0}^{1}}^{2} d\tau + \alpha(t+\beta)^{2}\right] \left[\int_{0}^{t} \|u_{\tau}\|_{H_{0}^{1}}^{2} d\tau + \alpha\right] \\ & - \left[\frac{1}{2}(\|u\|_{H_{0}^{1}}^{2} - \|u_{0}\|_{H_{0}^{1}}^{2}) + \alpha(t+\beta)\right]^{2} \\ &= \left[\mu^{2}(t) + \alpha(t+\beta)^{2}\right] \left[\nu^{2}(t) + \alpha\right] - \left[\frac{1}{2}\int_{0}^{t} \frac{d}{d\tau}\|u\|_{H_{0}^{1}}^{2} d\tau + \alpha(t+\beta)\right]^{2} \\ &\geq \left[\mu^{2}(t) + \alpha(t+\beta)^{2}\right] \left[\nu^{2}(t) + \alpha\right] - \left[\int_{0}^{t} \|u\|_{H_{0}^{1}} \|u_{\tau}\|_{H_{0}^{1}} d\tau + \alpha(t+\beta)\right]^{2} \\ &\geq \left[\mu^{2}(t) + \alpha(t+\beta)^{2}\right] \left[\nu^{2}(t) + \alpha\right] - \left[\mu(t)\nu(t) + \alpha(t+\beta)\right]^{2} \\ &= \left[\sqrt{\alpha}\mu(t)\right]^{2} - 2\alpha(t+\beta)\mu(t)\nu(t) + \left[\sqrt{\alpha}(t+\beta)\nu(t)\right]^{2} \\ &= \left[\sqrt{\alpha}\mu(t) - \sqrt{\alpha}(t+\beta)\nu(t)\right]^{2} \geq 0. \end{split}$$

Then we obtain

$$\begin{aligned} -(G'(t))^2 &= -4\left(\frac{1}{2}(\|u(t)\|_{H_0^1}^2 - \|u_0\|_{H_0^1}^2) + \alpha(t+\beta)\right)^2 \\ &= 4\left(\int_0^t \|u(\tau)\|_{H_0^1}^2 d\tau + \alpha(t+\beta)^2\right)\left(\int_0^t \|u_\tau\|_{H_0^1}^2 d\tau + \alpha\right) \\ &- 4\left(\frac{1}{2}(\|u\|_{H_0^1}^2 - \|u_0\|_{H_0^1}^2) + \alpha(t+\beta)\right)^2 \\ &- 4\left(G(t) - (T-t)\|u_0\|_{H_0^1}^2\right)\left(\int_0^t \|u_\tau\|_{H_0^1}^2 d\tau + \alpha\right) \\ &\geq -4G(t)\left(\int_0^t \|u_\tau\|_{H_0^1}^2 d\tau + \alpha\right).\end{aligned}$$

The above calculations show that

$$G(t)G''(t) - \frac{q}{2}(G'(t))^2 \ge G(t) \left( G''(t) - 2q \left( \int_0^t \|u_{\tau}\|_{H_0^1}^2 d\tau + \alpha \right) \right)$$
$$\ge G(t) \left( (q-2)\lambda_1 \|u_0\|_{H_0^1}^2 - 2qJ(u_0) - 2q\alpha \right).$$

We choose  $\alpha$  small enough, such that

(3.9) 
$$\alpha \in \left(0, \frac{\varrho}{2q}\right],$$

where  $\varrho := (q-2)\lambda_1 \|u_0\|_{H^1_0}^2 - 2qJ(u_0) > 0$ , then it follows that  $G(t)G''(t) - \frac{q}{2}(G'(t))^2 \ge 0$ .

Let  $F(t) := G^{\frac{2-q}{2}}(t)$  for  $t \in [0, \tilde{T}]$ , then by G(t) > 0, G'(t) > 0, q > 2 and the above inequality, we get

$$F'(t) = -\frac{q-2}{2}G^{-\frac{q}{2}}(t)G'(t) < 0,$$
  

$$F''(t) = -\frac{q-2}{2}G^{-\frac{q+2}{2}}(t)\left(G(t)G''(t) - \frac{q}{2}(G'(t))^2\right) \le 0.$$

It follows from  $F''(t) \leq 0$  that

(3.10) 
$$F(\widetilde{T}) - F(0) = \widetilde{T} \int_0^1 F'(\theta \widetilde{T}) d\theta \le F'(0) \widetilde{T}.$$

By (3.8) and the definition of F(t), we obtain

$$\begin{split} F(0) &= G^{\frac{2-q}{2}}(0) > 0, \\ F(\widetilde{T}) &= G^{\frac{2-q}{2}}(\widetilde{T}) > 0, \\ F'(0) &= -\frac{q-2}{2}G^{-\frac{q}{2}}(0)G'(0) = (2-q)\alpha\beta G^{-\frac{q}{2}}(0) < 0. \end{split}$$

which, combining with (3.10), implies

$$\widetilde{T} \le \frac{F(\widetilde{T})}{F'(0)} - \frac{F(0)}{F'(0)} < -\frac{F(0)}{F'(0)} = \frac{G(0)}{(q-2)\alpha\beta}$$

Then it follows from (3.8) that

$$\widetilde{T} \leq \frac{T \|u_0\|_{H_0^1}^2 + \alpha \beta^2}{(q-2)\alpha\beta} = \frac{\|u_0\|_{H_0^1}^2}{(q-2)\alpha\beta}T + \frac{\beta}{q-2}, \quad \forall \widetilde{T} \in [0,T).$$

Hence, letting  $\widetilde{T} \to T$ , we have

(3.11) 
$$T \le \frac{\|u_0\|_{H_0^1}^2}{(q-2)\alpha\beta}T + \frac{\beta}{q-2}.$$

Let  $\beta$  be large enough such that

(3.12) 
$$\beta \in \left(\frac{\|u_0\|_{H_0^1}^2}{(q-2)\alpha}, +\infty\right),$$

then by (3.11), we can get

$$T \le \frac{\alpha \beta^2}{(q-2)\alpha \beta - \|u_0\|_{H_0^1}^2}.$$

In view of (3.9) and (3.12), we define

$$\begin{split} \Lambda &:= \left\{ (\alpha, \beta) : \alpha \in \left(0, \frac{\varrho}{2q}\right], \beta \in \left(\frac{\|u_0\|_{H_0^1}^2}{(q-2)\alpha}, \infty\right) \right\} \\ &= \left\{ (\alpha, \beta) : \alpha \in \left(\frac{\|u_0\|_{H_0^1}^2}{(q-2)\beta}, \frac{\varrho}{2q}\right], \beta \in \left(\frac{2q\|u_0\|_{H_0^1}^2}{(q-2)\varrho}, \infty\right) \right\}, \end{split}$$

then

$$T \le \inf_{(\alpha,\beta)\in\Lambda} \frac{\alpha\beta^2}{(q-2)\alpha\beta - \|u_0\|_{H_0^1}^2}.$$

Let  $\zeta = \alpha \beta$  and

$$f(\beta,\zeta) := \frac{\zeta\beta}{(q-2)\zeta - \|u_0\|_{H_0^1}^2}.$$

Since  $f(\beta,\zeta)$  is decreasing with  $\zeta$  and we obtain

$$T \leq \inf_{\beta \in \left(\frac{2q \|u_0\|_{H_0}^2}{(q-2)\varrho}, \infty\right)} f\left(\beta, \frac{\varrho\beta}{2q}\right)$$
  
= 
$$\inf_{\beta \in \left(\frac{2q \|u_0\|_{H_0}^2}{(q-2)\varrho}, \infty\right)} \frac{\varrho\beta^2}{(q-2)\varrho\beta - 2q \|u_0\|_{H_0}^2}$$
  
= 
$$\frac{\varrho\beta^2}{(q-2)\varrho\beta - 2q \|u_0\|_{H_0}^2} \Big|_{\beta = \frac{4q \|u_0\|_{H_0}^2}{(q-2)\varrho}}$$
  
= 
$$\frac{8q \|u_0\|_{H_0}^2}{(q-2)^2 \varrho}.$$

Hence, by the definition of  $\rho$ , we get (1.11).

Proof of Theorem 1.2. Let  $u_0 \in H_0^1(\Omega) \setminus \{0\}$  satisfy (1.12), i.e.,  $u_0 \in N^*$  and u = u(t) be the corresponding solution, whose maximal existence time is T. By (2.4) and (3.4), we obtain

(3.13) 
$$\frac{d}{dt}J(u(t)) = -\|u_t\|_{H_0^1}^2$$

and

(3.14) 
$$\frac{d}{dt} \|u\|_{H_0^1}^2 = -2I(u(t)).$$

By (1.5), (1.8) and (1.12), we have

$$I(u_0) = \frac{2-q}{2} \|\nabla u_0\|_2^2 - \frac{1}{q} \|u_0\|_q^q + qJ(u_0)$$
  

$$\leq \frac{2-q}{2} \|\nabla u_0\|_2^2 + \frac{(q-2)\lambda_1}{2} \|u_0\|_{H_0^1}^2$$
  

$$\leq \frac{(2-q)\lambda_1}{2} \|u_0\|_{H_0^1}^2 + \frac{(q-2)\lambda_1}{2} \|u_0\|_{H_0^1}^2$$
  

$$= 0.$$

We assert that  $I(u_0) < 0$ . In fact, if  $I(u_0) = 0$ , since  $u_0 \neq 0$ , then  $u_0 \in N$ ; hence, we get  $u_0 \in N \cap N^*$ . However, by Lemma 2.2, this is impossible.

Actually, we may claim that

(3.15) 
$$I(u(t)) < 0, \ \forall t \in [0,T).$$

Otherwise, there is a  $t_0 \in (0, T)$  such that

(3.16) 
$$I(u(t_0)) = 0,$$

 $\quad \text{and} \quad$ 

(3.17) 
$$I(u(t)) < 0, \ \forall t \in [0, t_0).$$

Then it follows from (3.14) that

(3.18) 
$$\frac{d}{dt} \|u\|_{H_0^1}^2 = -2I(u(t)) > 0, \ \forall t \in (0, t_0).$$

Thus, by (1.12) and (3.18), we obtain

(3.19) 
$$J(u_0) = \frac{(q-2)\lambda_1}{2q} \|u_0\|_{H_0^1}^2 < \frac{(q-2)\lambda_1}{2q} \|u(t_0)\|_{H_0^1}^2.$$

On the other hand, it follows from (1.5), (1.8) and (3.13) that

$$\frac{(q-2)\lambda_1}{2q} \|u(t_0)\|_{H^1_0}^2 \le \frac{q-2}{2q} \|\nabla u(t_0)\|_2^2 \le J(u(t_0)) \le J(u_0),$$

which contradicts (3.19). So (3.15) holds.

Then by (3.13) and (3.14), we get

$$\begin{aligned} \frac{d}{dt}J^*(u(t)) &= \frac{d}{dt} \left[ J(u) - \frac{(q-2)\lambda_1}{2q} \|u\|_{H_0^1}^2 \right] \\ &= -\|u_t\|_{H_0^1}^2 + \frac{(q-2)\lambda_1}{q} I(u(t)) \\ &\leq \frac{(q-2)\lambda_1}{q} I(u(t)) \\ &< 0. \end{aligned}$$

Since  $J^*(u_0) = 0$ , the above inequality implies that there must exist a  $t_* > 0$  such that  $J^*(u(t_*)) < 0$ , i.e.,

$$J(u(t_*)) < \frac{(q-2)\lambda_1}{2q} \|u(t_*)\|_{H_0^1}^2.$$

If we set  $t_*$  as the initial time, then by Theorem 1.1, we know that u blows up in finite time.

## References

- A. B. Al'shin, M. O. Korpusov, and A. G. Sveshnikov, *Blow-up in nonlinear Sobolev type equations*, De Gruyter Series in Nonlinear Analysis and Applications, 15, Walter de Gruyter & Co., Berlin, 2011. https://doi.org/10.1515/9783110255294
- [2] T. B. Benjamin, J. L. Bona, and J. J. Mahony, Model equations for long waves in nonlinear dispersive systems, Philos. Trans. Roy. Soc. London Ser. A 272 (1972), no. 1220, 47–78. https://doi.org/10.1098/rsta.1972.0032
- [3] Y. Cao and C. Liu, Initial boundary value problem for a mixed pseudo-parabolic p-Laplacian type equation with logarithmic nonlinearity, Electron. J. Differential Equations 2018 (2018), Paper No. 116, 19 pp.
- [4] H. Chen and S. Tian, Initial boundary value problem for a class of semilinear pseudoparabolic equations with logarithmic nonlinearity, J. Differential Equations 258 (2015), no. 12, 4424-4442. https://doi.org/10.1016/j.jde.2015.01.038
- [5] H. Ding and J. Zhou, Global existence and blow-up for a mixed pseudo-parabolic p-Laplacian type equation with logarithmic nonlinearity, J. Math. Anal. Appl. 478 (2019), no. 2, 393-420. https://doi.org/10.1016/j.jmaa.2019.05.018
- [6] Y. He, H. Gao, and H. Wang, Blow-up and decay for a class of pseudo-parabolic p-Laplacian equation with logarithmic nonlinearity, Comput. Math. Appl. 75 (2018), no. 2, 459–469. https://doi.org/10.1016/j.camwa.2017.09.027
- C. N. Le and X. T. Le, Global solution and blow-up for a class of p-Laplacian evolution equations with logarithmic nonlinearity, Acta Appl. Math. 151 (2017), 149–169. https: //doi.org/10.1007/s10440-017-0106-5
- [8] L. C. Nhan and L. X. Truong, Global solution and blow-up for a class of pseudo p-Laplacian evolution equations with logarithmic nonlinearity, Comput. Math. Appl. 73 (2017), no. 9, 2076-2091. https://doi.org/10.1016/j.camwa.2017.02.030
- [9] V. Padrón, Effect of aggregation on population revovery modeled by a forward-backward pseudoparabolic equation, Trans. Amer. Math. Soc. 356 (2004), no. 7, 2739–2756. https: //doi.org/10.1090/S0002-9947-03-03340-3
- [10] T. W. Ting, Certain non-steady flows of second-order fluids, Arch. Rational Mech. Anal. 14 (1963), 1–26. https://doi.org/10.1007/BF00250690

HANG DING SCHOOL OF MATHEMATICS AND STATISTICS SOUTHWEST UNIVERSITY CHONGQING, 400715, P. R. CHINA *Email address*: 1048750740@qq.com

JUN ZHOU SCHOOL OF MATHEMATICS AND STATISTICS SOUTHWEST UNIVERSITY CHONGQING, 400715, P. R. CHINA *Email address*: jzhouwm@163.com